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$78,000

$80,000

$168,000

$173,000

Biz

Bold

Cheer

Downy

flute

snare drum

trombone

violin

Salaries First Names Instruments Detergents

$78,000

$80,000

$168,000

$173,000

1. Chad earns less than the person who uses Biz.

2. Either the person who uses Bold or the person who uses Cheer is Colin.

3. Of the person who uses Downy and Colin, one earns $78,000 per year and the other plays the flute.

4. The employee with the $173,000 salary is Colin.

5. The person who uses Biz doesn't play the trombone and is not Kaden.

6. Lilian earns less than Colin.

7. The person who uses Cheer plays the snare drum.

8. Lilian doesn't use Cheer and does not earn a $168,000 salary.
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